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Which three Fire POWER services features require a subscription license? (Choose three.)
 
 
A. URL filtering 
B. AVC 
C. high availability 
D. AMP 
E. IPS 
F. identity visibility 
 

Answer: A,D,E

 

 

Which application is required to enable Microsoft Active Directory identity integration for
FirePOWER services?
 
 
A. Sourcefire User Agent 
B. Microsoft Active Directory Manager 
C. Cisco Directory Agent 
D. Microsoft Active Directory Agent 
 

Answer: A

 

 

Which impact flag indicates that action is to be taken immediately?
 
 
A. 0 
B. 1 
C. 5 
D. 4 
 

Answer: B
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Refer to the exhibit.
 
 

 
A NOC engineer needs to tune some postlogin parameters on an SSL VPN tunnel. From
the information shown, where should the engineer navigate to, in order to find all the
postlogin session parameters?
 
 
A. "engineering" Group Policy 
B. "contractor" Connection Profile 
C. DefaultWEBVPNGroup Group Policy 
D. DefaultRAGroup Group Policy 
E. "engineer1" AAA/Local Users 
 

Answer: A

 

 

Which three policy types are configured using Fire SIGHT Management Center? (Choose
three.)
 
 
A. remote access 
B. file 
C. health 
D. network discovery 
E. malware 
F. access list 
G. firewall 
 

Answer: B,C,D
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Which two Cisco ASA licensing features are correct with Cisco ASA Software Version 8.3
and later? (Choose two.)
 
 
A. Identical licenses are not required on the primary and secondary Cisco ASA appliance. 
B. Cisco ASA appliances configured as failover pairs disregard the time-based activation
keys. 
C. Time-based licenses are stackable in duration but not in capacity. 
D. A time-based license completely overrides the permanent license, ignoring all
permanently licensed features until the time-based license is uninstalled. 
 

Answer: A,C

 

 

Refer to the exhibit.
 
 

 
 
Which traffic is permitted on the inside interface without any interface ACLs configured?
 
 
A. any IP traffic input to the inside interface 
B. any IP traffic input to the inside interface destined to any lower security level interfaces 
C. only HTTP traffic input to the inside interface 
D. only HTTP traffic output from the inside interface 
E. No input traffic is permitted on the inside interface 
F. No output traffic is permitted on the inside interface 
 

Answer: C
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